CERTIFICATE IN ACCOUNTING TECHNICIANS
COMPETENCY LEVEL—PART II EXAMINATION

June 2010 CAT-7A(ASC)

Applied Statutory Compliance
Time Allowed: 3 Hours Full Marks: 100

The figures in the margin on the right side indicate full marks.

Answer Question No. 1 (carrying 25 marks) from Part A which is compulsory
and answer any five questions (each carrying 15 marks) from Part B.

Please: (I) Answer all bits of a question at one place.
(2) Open a new page for answer 1o a new question.
Working notes should form part of the answer,

Part A (25 Marks)

(a) In each of the cases given below one out of four answers is correct. Indicate the correct answer (= 1 mark)
and give your workings/reasons briefly (= 1 mark)

(i) MS SHARBARI retires from SUNDARAM LTD. on June 30, 2009. She gets a pension of Rs. 5000
per month up to January 31, 2010. With effect from February 1, 2010, she gets 60% of her pension
commuted for Rs. 102000. If she gets a gratuity at the time of her retirement, what would be her
commuted pension taxable as salary for the assessment year 2010-117 (rounded up to nearest Rupee)

A. Rs. 56667
B. Rs. 45332
C. Rs. 102000
D. Nil

(i) The selling price of a product of SKY LINK LTD. inclusive of excise duty @ 8%, education cess
@ 2% and SAHEC @ 1% and CST @ 2% is Rs. 3000. What would be the assessable value per unit
under Central Excise Act?

A. Rs. 271739
B. Rs. 2771-62
C. Rs. 277778
D. Insufficient data

(i) VARUN LTD., a dealer makes inter-state sales of Rs. 322000 (inclusive of CST) during the quarter
ended September 30, 2009. Out of the goods sold, goods worth Rs. 16000 have been rejected and
returned on March 10, 2010, If the applicable CST rate is 2%, the amount of CST payable will be

A. Rs. 6373
B. Rs. 6314
C. Rs. 6000
D. None of the above

(iv) MS ARTITHI visited Germany and bought a personal computer for Rs. 38000 and a laptop computer
of Rs. 98000 while returning to India, besides her personal effects like cloth etc. value at Rs. 35000.
What is the customs duty payable if duty on baggage is 35% plus education cesses as applicable?

A. Rs. 4687
B. Rs. 2884
C. Rs. 4550
D. Insufficient information
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(v) MR VILAS received an amount of Rs. 500000 from LIC on the maturity of his policy with an assured
value of Rs. 400000. The annual premium paid by him was Rs. 40000 during the life of the policy.
What is the amount that is taxable in the hands of Mr Vilas for the assessment year 2010-11?

A. Rs. 500000

B. Rs. 400000

C. Nil

D. Insufficient Information 2x5=10

{b) Choose the most appropriate one from the stated options and write it down (only indicate A, B, C, D as you
think correct):

(i) In which of the following cases, is the income taxable in the normal assessment year and not in the
year in which it is earned?

A. Income from discontinued business

B. Association formed for short duration

C. Persons leaving India with no present intention of returning to India
D. Shipping business of a resident who is a foreign national

(ii) The ‘taxable event’ under the Central Excise Act is
A. Date of clearance from the factory
B. Date of manufacture
C. Date of sale of the goods
D. None of the above (A, B, C)
(iii) Which of the following activities is considered as manufacture under section 2(f) of the Central Excise
Act, 19447
A. Making of vanaspati from ground oil
B. Galvanizing of steel
C. Making of ice from water
D. Cutting and polishing of diamond
{iv) Under section 21 of the Customs Act, 1962, when goods which were in a ship at sea are separated
from the ship due to some ‘peril” it is known as
A. Jetsam
B. Flotsam
C. Wreck
D. Derelict
(v) The time within which the purchaser can reject the goods under section 8 of the Central Sales Tax Act.
A. Restricted to 6 months
B. Within 12 months
C. No time limit
D. Within 9 months 1%5=5

(c) Fill in the blanks by using the word(s)/phrase(s) given in the brackets:

(i) CETA specifies some process as amounting to manufacture. This will be said to be manufactured
(even iffunless) as per court decisions they do not amount to manufacture.

(ii) As per white paper on State level VAT, export sales are ——————— (exempted/zero rated) and credit
will be available of tax paid on inputs.




3] CAT-7A(ASC)

(iii) Director Indentification Number (DIN) required under Companies (Electronic Filling and Authentication
of Documents) Rules, 2006 is a (a life time number/allotted during directorship).

(iv) For obtaining registration under Central Excise Act, aplication in duplicate in prescribed form
(A-1/A-2/C-1) duly completed and signed should be submitted in the office of
Juridictional Assistant/Deputy Commissioner.

(v) Under section S4EC, of the Income Tax Act, Capital gains are exempted if invested in the Bonds issued

by NHAI and RECL within a period of 6 months from the ——————— (date of transfer of the asset/
end of the previous year). :
(vi) An Export Oriented Undertaking (EOU) is required to execute a ————— (B-17/B-8/B-7) bond.
(vii) Service Tax return can be revised within a period of ———— (60/90/30) days.
(viii) Duty drawback ————— (is/is not) available in respect of goods manufactured by EOU/SEZ unit.
(ix) An assessee, after sale of house property, receiving arrears of rent is chargeable to tax, the same
computed in the stipulated manner, shall be chargeable to tax as ——————— (income from other
sources/income from house property).
(x) For delay in payment of service tax, interest is chargeable ———————— (12/13/15) % for the period
for which payment is delayed. 1x10=10

Part B (75 Marks)

(a) State with reasons whether the following would amount to manufacture under the Central Excise Act, 1944:
(1) Reconditioning, repairs;
(ii) Printing of Colour Logo on Glass bottle. 2+2=4

{b) ASHA LTD. supplies raw materials of Rs. 1150 to A Ltd. a processor. A Ltd. processes the raw materials
and supplies finished product to Asha Ltd. A Ltd. charges Rs. 350 as processing expenses and Rs. 100 as
their profit. Transportation charges for sending raw materials to factory of A Ltd. is Rs. 50 and returning
the finished product to Asha Ltd. from premises of A Ltd. is Rs. 60. The finished product is sold by Asha
Ltd. at Rs. 2100 from their premises. Asha Lid. charges VAT separately in their invoice at applicable rate.
The excise duty @ 10% and education cess at applicable rate is payable.

You are required to find out:
(i) What is the assessable value?
(ii) What is the total duty payable under the Central Excise Act? 3+2=5

(¢c) BHARAT LTD. sold a machinery to LOCKESH LTD. on 28th September, 2009 and the price of the machinery
when it was removed from the factory at Hyderabad on the date of sale was Rs. 4 lakh. The rate of excise
duty applicable is 10.3% (inclusive of EC & SAHEC) on the date of removal. Lockesh Ltd., however,
refused to take delivery of the machinery when it reached their destination. Subsequently Bharat Ltd. increased
the prices of similar type of machinery to Rs. 4.50 lakh with effect from 1st October, 2009. The machinery
as refused by Lockesh Ltd. has been sold on 3rd October, 2009 to Voith Ltd. at the revised price of
Rs. 4.50 lakh.

Required:
(i) What is the value to be taken as assessable value? Explain with reasons.
(ii) What is the duty payable on above transaction? 4+2=6
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3. (a) RALLY INDIA LTD. has six Directors. Mr. X, Mr. Y and Mr. Z are full timefexecutive Directors and hold
the positions of Managing Director, Director (Finance) and Director (Operation). Mr. A, Mr. B and Mr. C
are independent non-executive Directors. Explain with reference to the provisions of Companies Act

(1) How Audit Committee under section 292A is constituted?
(ii) What is the time limit and number of Audit Committee meeting required to be held during a year?
(iii) How the quorum is determined in the meeting? 2+1+1=4
(b) ANKIT & ASSOCIATES, a firm of Management Consultants gives the following particulars relating to the
services provided to various clients by them for the half year ended 31st March, 2010:

(i) Total bills raised for Rs. 875000 (inclusive of service tax and EC + SAHEC), out of which bill for
Rs. 75000 was raised on an approved international organization and payments of bills for Rs. 100000
were not received till 31.3.2010.

(if) Amount of Rs. 50000 was received as an advance from DIPTI LTD. on 26.3.2010 to whom the services
were to be provided in May, 2010.

Ankit & Associates have crossed threshold limit during last year and liable to pay service tax.
You are required to work out the:
(i) The taxable value of services.
(ii) The amount of service tax would be payable, 442=6

(¢} What are the various services available on MCA-217 5

4. (a) “Payment of bonus is neither a gratuitous payment nor a deferred wage but is a right to share profit and
as such a statutory obligation on the part of employers."—Elucidate. 2

(b) Explain the circumstances under which unemployment benefit is paylable to an insured employee as per
ESI Act. 3

(¢) Mention any four methods of Computating Arm’s Length Price as per Transfer Pricing Provisions of the
Income Tax Act. 2

(d) The customs value (assessable value) of a machine imported from Japan by PREMIUM INDUSTRIES LTD.
is Rs. 200000. The other details are as under:
» Basic customs duty payable is 10%.
If the machine is produced in India excise duty payable would have been 14%.
¢ Education Cess and SAH Education Cess is as applicable.
Special CVD is payable at appropriate rate.

You are required to
(i) Calculate the customs duty payable.
(i) How much CENVAT can be availed by importer if he is manufacturer? 6+2=8

5. (a) ALEESONLTD. is a listed company with Kolkata Exchange. Explain with reference to the SEBI requirements
on Corporate Governance,

(i) What is time limit for submission of quarterly compliance report?
(if) What will happen if details under each head are not provided in compliance to the clause 49 of the
listing agreement? 142=3

(b) Can the gratuity be attached by a decree of a Civil Court? 3
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ZENITH ENTERPRISES, a dealer effected under mentioned inter-State sales/sales during the quarter ending
31st December, 2009:

(1) Invoice No. 30 dt. 02.10.2009 Rs. 51000 inclusive of CST

(2) Invoice No. 31 dt. 30.10.2009 Rs. 50000 exclusive of Tax

(3) Invoice No. 32 dt. 02.11.2009 Rs. 40800 inclusive of CST

(4) Invoice No. 33 dt. 15.11.2009 Rs. 20400 inclusive of CST

(5) Invoice No. 34 dt. 01.12.2009 Rs. 100000 exclusive of Tax

Following further information is given:

* All registered dealers gave Form-C except purchase of goods of Invoice No. 34.
* 50% of goods pertaining to Invoice No. 30 are returned on 2.2.2010.

* A buyer of Invoice No. 32 rejected the goods worth Rs, 5100 and the same were received back on
5.5.2010.

» CST is 2% and State Sales Tax is 12.5%.
Required:
(i) Compute the taxable turnover and tax payable.

(i1) What will be the taxable turnover and tax payable if the goods of Invoice No. 33 are exported to Srilanka?
6+3=9

When is an employer not liable to pay compensation if personal injury is caused to a workman by accident
arising out of and in the course of his employment? 5

BIO-TECH PHARMA LTD. manufactures two products viz. Eye ointment ENO and Skin ointment SNO.
SNO is a specified product ws 4A of the Central Excise Act, 1944, The sale prices of ENO and SNO are
Rs. 30 per unit and Rs. 50 per unit respectively. The sale prices of both the products include 8% basic excise
duty plus 2% education cess and 1% SAH education cess. Central sales tax 2% is also included in both the
selling prices.
Additional information is available:
* Units of Products moved from factory for sales:
ENO: 100000 units
SNO: 150000 units

e Abatement is permissible u's 4A for product SNO : 40%.

You are required to

Calculate the total excise duty liability of Bio-Tech Pharma Ltd. on both the products. 4+4+2=10
State briefly the provisions relating to storage of non-duty paid goods outside the factory, contained in Rule
4(4) of the Central Excise Rules, 2002. 2

(b) Explain export of services under Service Tax. What is the exemption available to exporter of services from

(c)

Service Tax? 246=8

AVIKA LTD. is engaged in the business of carriage of goods. On April 1, 2009 it owns 10 trucks (6 out
of which are ‘heavy goods vehicles’). On May 6, 2009, one of the heavy goods vehicles is sold by Avika
Ltd. to purchase a light goods vehicle on May 10, 2009 which is put to use only from June 17, 2009.
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Find out the net income of Avika Ltd. for the assessment year 2010-11 taking into consideration the following
information gathered from its books:

Rs.
Freight collected 890000
Less: Operational expenses 640000
Depreciation as per section 32 190000
Other office expenses 15000
Net Profit 45000
Other business/non-business income 70000 5

8. (a) MR KRISHNA is a Manager (Marketing) of TANLA LTD. During the financial year 2009-10, he has the
following emoluments including benefits received from his employer:

Basic salary up to 31.8.2009 — Rs. 30000 p.m.

From 1.9.2009 — Rs. 35000 p.m.

Transport allowance — Rs. 3000 p.m.

Contribution to recognised provident fund 15% of basic salary and DA if any.
Children education allowance — Rs. 500 p.m. for two children
City compensatory allowance — Rs. 300 p.m.

Hostel expenses allowance — Rs. 380 p.m. for two children
Tiffin allowance (actual expenses Rs. 3700) — Rs. 6000 p.a.

Tax paid on employment _ —  Rs. 2500

Additional information is given:
(1) Mr Krishna makes the following annual payments:
e Contribution to RPF: 15% of basic salary.
e Insurance Premium on Insurance Policy of Rs. 70000: Rs. 8000.
+ Contribution to Public Providend Fund: Rs. 20000,
(2) Income of Mr Krishna from other sources: Rs. 50000.

You are required to determine the taxable income and tax liability for the assessment year 2010-11.  7+2=9
(b) Explain the following:
(i) Can service tax return be revised by a person, if so, by which date?
(i) Who is liable to pay E-payment of service tax? 1+2=3

(c) State briefly the requisites of a charge income tax of capital gains under section 45(1) of the Income Tax
Act, 1961 3
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CERTIFICATE IN ACCOUNTING TECHNICIANS
COMPETENCY LEVEL - PART Il EXAMINATION
CAT-TA(ASC)
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wraTfiTe Sanfes ST

i 90 : 3 HUZ quTieR : 100

The figures in the margin on the right side indicate full marks.

In case of any discrepancy, examinees are advised to follow the English Version.
U 3 | WO HEAT U ( 25 30k ) o1 v St i fop sifvamd &1 v a & fdf wimwwr s ow
T ( U vy 15 smr W T )|
FT U U9 o it Ul & S0 WA aE S
T YU WY T I IE U8 F W &Y |
[eft STl T THT R URT R |

W - 37 ( 25 37 )

I (&) Fefafat v ar el & 9§ o 39 991 € 1 981 I a9 (1 ofF) iR ot I ¥ Fhw o ®
e (1 3A):

(1)

(i)

(iii)

gl e, g foe & 30 9, 2009 #r e g 1 3= 31 s9ad), 2010 7% Wi WE 5,000 ®
T % W 631 1 weEd, 2010 F I AT T H 60%, 1,02,000 T F FE F0 |
afe 3% e B & wwa r=gfe ot fredt &1 o 3 Fufo ad 2010-11 ¥ el Fgfe e &
F fora oo § s’ ¥ wnfaa 2 ? (Frereaw Tt #)

A. 56,667 %
B. 45332 %

C. 1,02,000 %

D. A

wh.%. a1, foiw foe % v seare o1 s qea (8% 32T 53, 2% fven 3use, 1% meafys va 3=
Toreqn 3k Ao 2% F=ta Tt 2 whed) 3,000 ® ¥ 1| F=17 IeET F sfufray & swwfa suE
wfd T T Ay geg F g ?

A. 271739 ¥
B. 2,771.62 %
C. 277778 ®
D. 9aiw AFE

U Sier, 969 fok, 7 30 faasr, 2009 #t gara €1 At fEl 7 3,00,000 = F1 sy fawt
(F=Ta fasnt # wfew) +1)1 fafsra m@ 7 & 16,000 % %1 A1 3rdigra & 741 791 10 ¥, 2010 Fr
aifen #1 fem ) 3fe F=0g fawt o1 #1229 o @, F= st = =51 uf 2t

A. 6373 %
B. 6314 %
C. 6,000 %

D. WA & F15 7 |
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(iv)

(v)

Bt Afeelt STt T qo wrE Sed g 38,000 T W UH FHA 3T 98,000 T F U AW
amiam%ass,nmmaﬂmﬁaﬂmmﬁﬁ:mmﬁaﬂ%mﬁwq{mw;mﬁ
&t foren Su &1 @] @ & ¥ ¥ Few gyfz = e et ?

A. 4,687 T°
B. 2,884 B

C. 4,550 ¥

D. #AWaMG siwe

frrer foeies 1 3wet Wiefteht, fomaat =iifira mift 4,00,000 o, it IR 9T USASEE F 5,00,000 Fo

- R ara g ) el # oty & e IuE gm aEE i At sifirEm 40,000 B o) F

Fufoon & 2010-11 % fireex faema & gm swivg a1 331 o == 20d 2

A. 5,00,000 ®°
B. 4,00,000 %°
C. Fo it =&t
D. 3 3w 2x5=10

(@) fed =R famredl ¥ & Tt s @1 g fafan (¥ A, B, C, D & & fordr a1 sfig ame & 3%
T9Ed )

(i)

(i)

(iii)

(v)

et 7 & fom ftfeafodl &, e fufor-ad § swm 2 & 7 6 og 9 ¥ foad @ S0 T
2

A, T % e 7 saum ¥ s

B. @9 @iy & fou aamdt v udifmes

C. =Afed afe wra 1 grewt =1 @ & oK uwa e S am A
D. fadeit amfim ot o Frand gro fafin seam )

H= IeareA Afufram & srfa sy g &

A. wrEn ¥ fofre = fafy
B. fmiw =1 fafy

C. #a % fawg w1 fafy
D. 39w ¥ ¥ %1¢ &1

Frerfafen & & St e Fs s sfufram, 1944 3 4R 2(£) F orER sam=A £2

A, H%A & oo ¥ aamfa = =
B. =& ® TEm

C. UFl ¥ 3 19 9

D. &t =t ®fen 991 vifew &

Fen SfufTm, 1962 1 ¥R 21 swla T a8 wwE, S g W o v v v e Sifen &
TR BT T e o & @ 9 9 I

A, SZEq

B. TeEm

C. & # g
D. Efifaw
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(v) = fasml st sifufas &1 um 8 & st<ria 9 wwamEfy, fes u s ard 97 Sigd S gl

6 TETT T difig ¥
12 HEHI & 3T
FE THG H AT
9 HEMI & =L | x5=5
(F) FreH 7 o v vy o e e v
()  CETAS aread Tt gferanadt & & S Ieures & 1 3% e T SO oot (=2
el E1/59 % TF) =maed & foiagar F somed 71§
(i) T~ T A2 W E&ET T3 & FFAR, T80 fG0T e (YeF qF/A
W W FAM) T AR T | YE 5 73 o & faw e faem

(iii) 7 (Fea e wEfe siafvm st eega=y) FEm 2006 & sl savas S TeaH
AT (DIN) TH oorvererrenarcennne (Steaifas Sen/Haes 998 & fod smEfa)

(iv) $=1a IweA T Ay F ararta Geiemor F07 F AT o, (A-1, A-2, C-1)

eAl YR W T BEIeR %k &9 (jurisdictional ) Temes/fe@ wHivrR & Fafea & s
Toran st =nfew |

(v) Gt o STraeRt Sfufem &1 4/ 54 EC % 7010 L HH € I8 T oo
(wmf % TERROAT-99 F) FAfd) F 6 T F o LU LIE. (NHAD R e,
(RECL) gr fiifia ey & fafifsa = fear sm)

(vi) T Fafa=Et ST (EOU) 7 oo (B-17/B-8/B-7) @€ W1 BId1 € |
(vii) T To R e (60/90/30) Tt =1 srafy & weifam famar s waar &1
(viii)EOU/SEZ smear gra fafta wia & ey ¥ y[os anafy suas ... (FAET®) |

(ix) WM Hia S99 & 918 U HISET 510 WIs ' e fantan’ sy ¥ fagst momn fuffa o +8
11 | AR (= |l ¥ /aeE i § o79) F ®9 § g 2o

(x) A F YT § S W, = 39 70y & fog s A i A g n e & .o, %(12/13/15)
I T FIE S | 1x10=10

9 0 W=

T - & ( 75 37 )
2. (1) Frw wied saed & F=1a ST #v sfufay 1944 ¥ sr=ta Freg-sares 51 9o 3F ey .
(i) q7: 3% = (Reconditioning ), T |
(i) == =t arael 9 T @ (Logo) BT 2+2=4
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(=)

(=)

s fafues, u fafiee 11,150 ® F F=d o1 F1 qfd Ll & & 39 W wiha T ame Fa 11 foe
Fed WA W T et & 3T s o =61 T v w1 ogfd e § 1w e 350 % whiEd @ 3T 100
T HOY WY F A HE e U TR F FET 9T U e WE S ufEeA Ana S0 B ¥ A u fee &
9aA I A T AU WIS 1 GHEET 9a 60 T T 1 30 fee T 2,100 T H TN IS 9T WS H A=
Fron fee 31em | 79 d@iwed W G 20 | 92 91s Fal ¢ | ITEA F10% F 0 F S fovan 3uw wnp
o H A fean s € 1 9w Fifsu—

(i) Yoarg qed | e 7

(i) Yo e Afufam F A=ria Fo YaH F1 E e 7§ ? 3+2=5
uAA fae 7 us i @y fae 7 28 faamat 2009 1 941 3 51 g7 vyl deuae =1 el ¥ fawg
1 fafiy 1 zerl T o 77 4 W@ T F o | gt W fafa w S Yo 10.3% @] e 81 @ fae
T wyiA % dhae e w aeiE #i fefaad 7 & v e ar F wa e 3 9u ven ) neied &
e 4.50 W@ % 7 ag fean | 9 1 s7Egeat 2000 § gWrEl g0 | S 9viEd weny e ¥ w4, 3
waZat 2009 F A3y fae Fr 4.50 o@ ® & Hyifia o8 W a9 9 T Fand H—

(1) F W g Yehara Ied gm ?
(2) svde =aer W e o 39 gm? a+2=6

3. (@) i sfven fafaes % o g9 €)1 foe v, foe a3 oin fiee St pofefas deme § &N yam 9,

Hare (fasdta) i g9es (3EeE) F e w | fie v, fie o 2 e ot i s d=es ©) St
wfufam & yEvEr & g=d ¥ 9 Fifau—

(i) =T 292A % H=ria FAFQ0 FHS FH nfed F1 S T2
(i) wH ok 7 i FHA F W A & fou Ty @ st gen e g2
(iii) Twr # for wrm S8 Feffa =t o 202 2+1+1=4

(3) sifa woe uaifauzy, Yo Teesn U B9 T 31 W9, 2010 I GOG34 956 SR F o fafu=

TEHT @ &1 T dast & g Fefatas e vem #5 E
(i) & 8,75,000 ¥ = faa (F=n =7, foan 3us qu1 At vd 3=9 foen gus wfeq) Frifoa
forar i fad 9 75,000 ¥ & fam sifusa st dewn =1 Foifaa f6d 9 &fit 31.03.2010
T 10,00,000 & & Taeit F1 W T gon
(i) 26.03.2010 =¥ fawft fae & 50,000 ® F1 W vzaTe F w9 ¥ wrd g7 fag=r v 2010 ¥ Fard

WEH FAT 47

siferd Tve wEifauE T A o ¥ =Aan 9w F v ufdw ven #1 § o6 39 W 8a w1 2
¥

U] FifT—

(i) Transdt =1 g i

(ii) e T F1 S PEE FE T 4+2=6

() MCA-21 W I9e= fafu= yem =it fad =0 ¢ 2 .
4. (&) "4\ w1 TEE T A 0F FLYEE (gratuitous) WTAE § T 7 € wufia weght § afe g o Faea &

Fuifrs soefam F =9 & oY =1 92T F1 AAfusn §1" 7o F:ifan) 2

(=) 39 il =1 9vi= Fifae f5od 3. va, om. sfufme (E.S.1 Act) & s1a =t 1 Sl @ 29

EG A 3

(=) smast SAfufEm & T g WEYET F S8 T W (Arm's Length ) 9ed & fRufror &5t =m fafumy

1 G0 I | 2
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(z) Wifoay sves foe 5 <M & sifae U O9iiy =1 Y[ohaird ged 2,00,000 ¥ ¥ | 37 g=Ad i €

- A | ek 10% Fi & F IaE 1 WA E

- Az weiiA WRA ® ST S A SceA Jeh w1 <L 14% Bl
- qEA wELEl. gm 3fed T WA

(i) VT WIS AT HE Yo w1 oA it |

(ii) s oz Feivsal E T sed g fFan dde swosm ¥ 7 6+2=8
5. () e fae wrawa wfayfa Gl &= ¥ gfaag w0t €1 39 31 vl F swwia 39% fou fmda
AT T TIHET |

(i) Tfuss sueE e s w0 &t g9-wm Fn g ?
(i) afz ge=iem gueha F 919 49 F uer ¥ ¥ e & sia aifed gea 7 4 S d@ 36
741 aftoms Fm ? 1+2=3

(@) = fofae F1E F ARV W T=42T ¢ (attach ) FT 5 Hehell § ? 3
(1) T Sier, FfY TS ¥ 31 fegran 2000 = wama fmE & S frefafan ey ey fawm 1

e wE 30 faAe 02.10.2009 51,000 ¥ (F=17 faml = Eq)

@t g'm 31 faAis 30.10.2009 50,000 0 (FT Wed)

At & 32 feAis 02.11.2009 40,800 ¥ (F=m4 faw1 L wled)

#ror HEm 33 feAi® 15.11.2009 20,400 ¥ (F=17 fet F wfeq)

dra wE 34 AT 01.12.2009 1,00,000 0 (T TEd)

= g iR & i

« o Te 34 G G T WA HI BIew 94 TSiidd Sterdl g B -H1 g

02.02.2010 S =ierh e 30 3 TIA F1 50% Taw wT fam

i e 32 F Fal T 5,100 T YTH F AIA FAEFHa H oA HAR IH W FT 05.05.2010 1 AIH

Vos o o

A 1 fam T

o FHmra faml ®T 2% AN T fawml F12.5% ¥

Tard fH—

(i) HEg e 3T 29 HT H MO S

(i) =fg ==k Te 33 =1 T Sficia = frafa fem mn 2t & s arad o 3a % =t ofa i ?

6+3=9

6. (¥ fam oftfeafedt & ww fratam afaafd gom & fou sowerd =1 g afe s 1 9r & F it
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